4 &a W @ Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
8,922 x 100 = 2,843 x 1000 =
2,268 x 1000 = 5,128 x 10 =
4,542 x 100 = 3,191 x 100 =
2,25 %10 = 6, 146 x 100 =
1,965 x 1000 = 9,523 x 10 =
9,85 x 1000 = 7,759 x 100 =
7,181 x 1000 = 7,885 x 1000 =
5,408 x 10 = 8, 846 x 100 =
3,892 x 1000 = 3,725 % 10 =
6,122 x 10 = 4,989 x 1000 =
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4 g a W @ Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
8,922 x 100 = 892.2 2,843 x 1000 = 2843
2,268 x 1000 = 2268 5,128 x 10 = 51.28
4,542 x 100 = 454.2 3,191 x 100 = 319.1
2,25%10=22.5 6,146 x 100 = 614.6
1,965 x 1000 = 1965 9,523 x 10 = 95.23
9,85 x 1000 = 9850 7,759 x 100 = 775.9
7,181 x 1000 = 7181 7,885 x 1000 = 7885
5,408 x 10 = 54.08 8, 846 x 100 = 884.6
3,892 x 1000 = 3892 3,725 x 10 = 37.25
6,122 x 10 = 61.22 4,989 x 1000 = 4989

www.snowmath.com


https://www.snowmath.com

